
 

Code # 07412 
 

Please read these instructions in full before fitting 
 

Kit Contents: 
 

2 x M6 x 20 flanged button head socket screws 
 

2 x M6 x 25      “           “        “       “           “ 
 

4 x M6 flat washers 
 

4 x rubber grommets 
 

4 x metal spacers 
 

1 x 1 metre plastic edge trim 
 

2 x 100mm cable ties 

 

 

 

 

 

 

 Remove Chainguard 

 You may wish to remove the silencer to aid access to the forward mounting point but it is 

not essential. 

 Remove the plastic brake/abs cable guide from the front left hand face of the swinging arm 

            Note: retain the original BMW short spacer from the front bolt 

 Cut and fit the plastic edge trim to the left and right lower edges of the Hugger. - Warm 

first for ease of application  

 Fit the four rubber grommets into the holes in the Hugger 

 Press the four steel spacers into the grommets 

 Take the retained BMW short spacer and push it into the top of the forward most grommet. 
This facilitates a ‘stand off’ required for the forward mounting point by pushing the lower spacer partially out.  

 

You can now attach the Hugger.  Fit bolts finger tight until all are installed  
 

 Start with the forward most M6 x 25 bolt at the front of the swinging arm. Then the other 

M6 x 25 bolt on the left side of the bike. Finally the two M6 x 20 bolts that attach the 

chainguard side. 

 Tighten all four bolts ensuring there is clearance between the Hugger and tyre. 

 If the Hugger requires slight adjustment to achieve clearance, remove the left hand bolt and 

fit flat M6 washers – quantity as required  - between the swinging arm and the underside of 

the Hugger fixing point. Re-fit and tighten the M6 x 25 screw. 


